N = 0l & At & Ml A

20168 = =& 2 3 LA SN

SN EXE A
M QUSRI (M - BAIS/MATE - D)

CHel: &3 BI|EE S A (B9 ®R)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
SxEetA 5,603,753 4,883,753 720,000

= 2,087,000 2,057,000 30,000

Al 3,516,753 2,826,753 690,000

INYUET R (M - EAIIY/MANE - DT 3}) 4,981,716 4,381,716 600,000

= 2,000,000 2,000,000 0

Al 2,981,716 2,381,716 600,000

o IS ESALT R 1,750,000 1,150,000 600,000

HYBDBRBANLEI NS (2NHE ) 600,000 0 600,000

308 XX € S 0/ & 144,000 0 144,000

10 201205 Ofl CHSH 2 &F X TH &8 At S b 144,000 0 144,000
OFZAIATIIY S=SLE JUISAY 14

ROIYXE, 2Hl) 144,000,008 * 14 144,000 0 144,000

403 XX SHAI S R0l 456,000 0 456,000

02 27125 Ofl 8 X = = TH 3 At 2 b 456,000 0 456,000
OFZAIATIIY S=SLE JUISAY 14

ETEE) 456,000,0002 * 14! 456,000 0 456,000

NSO HENRNLSS (IEL X SN L/ M) 296,754 176,754 120,000

< 75,000 45,000 30,000

Al 221,754 131,754 90,000

Aol 22 296,754 176,754 120,000

= 75,000 45,000 30,000

Al 221,754 131,754 90,000

APRIEHRI Al S E bl 46,754 26,754 20,000

401 A& B 2O HI 40,000 20,000 20,000

01 Al& I 40,000 20,000 20,000

OYBIMACT JIBtAlEE 22

23 40,000,0002 40,000 20,000 20,000

ERRAINYAS B (RIINLNAT2HE ) (E) 100,000 0 100,000

= 30,000 0 30,000

Al 70,000 0 70,000

401 A& B 2O 100,000 0 100,000

= 30,000 0 30,000

Al 70,000 0 70,000

01 Al& I 100,000 0 100,000
OSKHEIZIZE LPAAST BIA4TLT2

£ 100,000,0008 * 14! 100,000 0 100,000

= 30,000 0 30,000

Al 70,000 0 70,000




